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Nursing Superintendent 
 

Section 1 - Professional Knowledge 

 

1) Studies have shown that many patients fall 
out of bed despite the use of side rails; this has 
led to which of the following conclusions  

A)  Side rails are ineffective  

B)  Side rails should not be used  

C)  Side rails are deterrent to prevent a patient 
from falling out of  bed  

D)  Side rails are  a reminder to a  patient not 
to get out of bed  

 
2) The nurse is instructing a group of volunteer 
nurse on the technique of administering the 
BCG vaccine. What method should the nurse 
teach the group to administer the vaccine 
correctly  

A)  Intra muscular Method  

B)  Intravenous Injection  

C)  Subcutaneous Injection  

D)  Intra dermal Scratch Injection  

 
3) Find out the odd one  

A)  Trachea  

B)  Bronchi  

C)  Esophagus  

D)  Larynx  

 
4) Anatomy is a term, which means the study of 
-------------------  

A)  Physiology  

B)  Morphology  

C)  Cell Function  

D)  Human Function  

 
5) A major function of the large intestine is to :  

A)  Secrete digestive enzymes  

B)  Remove waste material  

C)  Regulate the release of bile  

D)  Secrete water in order to regulate blood 
volume  

 
6) The total volume of CSF is :  

A)  50 ml  

B)  100 ml  

C)  150 ml  

D)  275 ml  

 
7) Backbone of public health nursing  

A)  Home visit  

B)  Records  

C)  Health education  

D)  Registers  

 
8) Common side effect of ECT is impairment of  

A)  Judgment  

B)  Speech  

C)  Though  

D)  Memory  

 
9) After admission of the postoperative patient 
to the clinical unit, which assessment data 
require the most immediate attention  

A)  Oxygen saturation of 85%  

B)  Respiratory rate of 13/min  

C)  Temperature of 100.4OF ( 38oC)  

D)  Blood pressure of 90/60 mm hg  

 
10) All are motor nerve except  

A)  Accessory  

B)  Abducent  

C)  Trochlear  

D)  Trigeminal  
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11) The removal of a compound that the body 
no longer requires is called ……..  

A)  Secretion  

B)  Excretion  

C)  Movement  

D)  Digestion  

 
12) A sexual pain disorder reported in females  

A)  Anorgasmia  

B)  Vaginismus  

C)  Peyronie’s disease  

D)  Impotence  

 
13) Halfway through the administration of 
blood, the female patient complains of lumbar 
pain. After stopping the infusion nurse should  

A)  Increase the flow of normal saline  

B)  Assess the pain further  

C)  Notify the blood bank  

D)  Obtain vital sign  

 
14) Length of female urethra is  

A)  18 cm  

B)  4 cm  

C)  10 cm  

D)  18 inches  

 
15) Spermicide used contraceptive TODAY is :  

A)  Norethisterone  

B)  9-Nanoxynol  

C)  Prostaglandin F-2  

D)  MPA  

 
16) Part of universal tracheostomy tube are  

A)  Outer cannula with cuff  

B)  Inner cannula  

C)  Obturator  

D)  All  

 
17) Which of the following would not be lined 
by peritoneum…….  

A)  Heart  

B)  Stomach  

C)  Intestine  

D)  Liver  

 
18) The terminal portion of the large intestine is  

A)  Duodenum  

B)  Ileum  

C)  Rectum  

D)  Colon  

 
19) Excessive thirst is called:  

A)  Polyphagia  

B)  Polyuria  

C)  Polydypsia  

D)  Oliguria  

 
20) Maternal mortality rate is  

A)  Maternal death per 100 thousand live birth  

B)  Maternal death per 10 thousand live birth  

C)  Maternal illness  per 100 thousand live birth  

D)  Maternal illness per 10 thousand live birth  

 
21) Right ventricular enlargement due to 
pulmonary problem is called  

A)  Cardiac temponade  

B)  Corpulmonale  

C)  Cardiomyopathy  

D)  Emphysema  

 
22) Sinus bradycardia is heart rate less than:  

A)  80 beats per minute  

B)  60 beats per minute  

C)  70 beats per minute  
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D)  72 beats per minute  

 
23) Tetany is a classical finding in  

A)  Hyponatremia  

B)  Hypernatremia  

C)  Hypokalemia  

D)  Hypocalcemia  

 
24) All of the following measures are 
recommended to prevent pressure ulcers 
except  

A)  Massaging the reddened area with lotion  

B)  Using the water or air mattress  

C)  Adhering to a schedule for positioning and 
turning  

D)  Providing meticulous skin care  

 
25) The two blood vessels most commonly 
used for TPN infusion are the:  

A)  Subclavian and jugular veins  

B)  Brachial and subclavian veins  

C)  Femoral and Subclavian veins  

D)  Brachial and Femoral veins  

 
26) A midline cleft lip is due to failure of fusion 
of :  

A)  Maxillary Processes  

B)  Medial nasal processes  

C)  Medial & lateral nasal processes  

D)  Medial & maxillary process  

 
27) Definitive  treatment of placenta praevia 
includes  

A)  Bed rest  

B)  Supplementary  haematinics  

C)  Use of tocolytics  

D)  Caesarian section  
 

 

28) Most common causes of Esophagitis is  

A)  Myasthenia Gravis  

B)  Glossoplegia  

C)  Duodenal ulcer  

D)  Reflux esophagitis  

 
29) Find the odd one  

A)  Florence Nightingale  

B)  Clara Barton  

C)  Lilian Wald  

D)  Martin Luthar king  

 
30) Proteins and carbohydrates are classified 
as …………….  

A)  Macromolecules  

B)  Microbes  

C)  Organelles  

D)  Atoms  

 
31) Gas sterilization is  

A)  Disinfection  

B)  Autoclaving  

C)  Fumigation  

D)  Sterilization  

 
32) A patient with low T3, T4, will have:  

A)  Irritability  

B)  Profuse diaphoresis  

C)  Tachycardia  

D)  Cold intolerance  

 
33) A decrease in blood glucose that causes 
the inhibition of insulin is an example of ……….  

A)  Positive Feedback  

B)  Negative Feedback  

C)  Abnormal function  

D)  The action of glucagon  
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34) In following which statement is false  

A)  At birth the uterine body and the cervix ratio 
is about 1:2  

B)  When Menarche occurs the ratio between 
uterine body and the cervix become 1:1  

C)  After menarche the ratio becomes 2:1  

D)  After menopause the ratio remains 3:1  

 
35) ICDS was launched in  

A)  1955  

B)  1968  

C)  1975  

D)  2005  

 
36) ……………………….is the body’s primary 
source of energy  

A)  Iron  

B)  Sucrose  

C)  Fructose  

D)  Glucose  

 
37) Complication of LP include  

A)  Infection  

B)  Headache  

C)  Hematoma  

D)  All of the above  

 
38) Which of the following parameter should be 
checked when assessing respiration  

A)  Rate  

B)  Rhythm  

C)  Symmetry  

D)  All of the above  

 
39) Waiter’s tip position is seen in  

A)  Bell’s palsy  

B)  Facial palsy  

C)  Erb’s palsy  

D)  Congenital dislocation of hip  

 
40) Β-cells of pancreas secrete which hormone  

A)  Insulin  

B)  LH  

C)  FSH  

D)  TRH  

 
41) Staging of cervical cancer is primarily 
based on  

A)  Severity of symptoms  

B)  Age of female  

C)  Clinical examination  

D)  All  

 
42) The transportation of heat in the body is 
mainly a property of the ………….it contains   
 

A)  Food  

B)  Oxygen  

C)  Water  

D)  Pressure  

 
43) Vermiform appendix is the part of  

A)  Stomach  

B)  Small intestine  

C)  Large  intestine  

D)  Colon  

 
44) To Decrease G1 irritability, the nurse 
should suggest the patient to minimize the use 
of  

A)  Sugar product  

B)  Milk Product  

C)  Cola drink  and coffee  

D)  Both b and C  

 
45) Cimetidine is administered 6 hourly to a 
patient with burn in order to  

A)  Prevent infection  
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B)  Restore electrolyte balance  

C)  Promote renal function  

D)  Prevent curling’s ulcers  

 
46) If air bubble appears during chest drainage  

A)  It shows air leakage  

B)  It shows water Leakage  

C)  It is a normal condition  

D)  It indicates air embolism  

 
47) Ototoxicity is seen with:  

A)  Tetracyclines  

B)  Penicillins  

C)  Aminoglycosides  

D)  Chloramphenicol  

 
48) Creatinine is a  

A)  Chemical that is typically not secreted  

B)  Substance typically found in greater 
amounts in renal arteries than in renal veins  

C)  Building block for complex carbohydrates  

D)  2 of the above are correct  

 
49) Which of the following is a shortest acting 
local anaesthetic agent  

A)  Lidocaine  

B)  Procaine  

C)  Bupivacaine  

D)  Amithocaine  

 
50) APGAR score of a newborn baby born with 
severe respiratory depression  

A)  <3  

B)  3-5  

C)  5-7  

D)  >9  
 

 

 

51) Disease eradicated from world:  

A)  Small pox  

B)  Malaria  

C)  Polio  

D)  Diphtheria  

 
52) Which of the following patient is at greater 
risk for contracting an infection  

A)  A patient with Leukopenia  

B)  A patient receiving broad –Spectrum 
antibiotic  

C)  A post operative patient who has 
undergone orthopedic surgery  

D)  A newly diagnosed diabetic patient  

 
53) MCH service includes  

A)  Prenatal and postnatal care  

B)  Under fives care  

C)  Family planning service  

D)  All of the above  

 
54) Normal specific gravity of urine:  

A)  1.010-1.020  

B)  1.000-1.010  

C)  0.900-1.000  

D)  1.020-1.050  

 
55) Increased blood volume in a tissue is 
known as  

A)  Hyperaemia  

B)  Edema  

C)  Congestion  

D)  Purpura  
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56) Nurse is about to insert Ryle’s tube for a 
patient. Before this act she must be aware of 
the distance between incisor teeth and 
gastroesophageal junction. Which of the 
following  is correct distance  

A)  30 cm  

B)  40 cm  

C)  50 cm  

D)  60 cm  

 
57) Agent that transmits infection from one 
person to another without showing signs and 
symptoms of the disease is called  

A)  Vehicle  

B)  Case  

C)  Carrier  

D)  Host  

 
58) Which of the following drug is to be infused 
fast  

A)  Aminophylline  

B)  Mannitol  

C)  Dopamine  

D)  Potassium chloride  

 
59) The largest gland in the human body  

A)  Pancreas  

B)  Liver  

C)  Spleen  

D)  Gallbladder  

 
60) Chemical signals released by an organism 
that influence the behavior of other individuals 
of the same species are called  

A)  Pheromone  

B)  Insulin  

C)  Androgen  

D)  Steroid  
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Section 2 - General Knowledge and Aptitude 

 

61) Leprosy is transmitted by  

dq"B jksx QSyrk gS 
 

A)  Bacteria  

cSfDVfj;k ls  

B)  Hand holding  

gkFk idMus ls  

C)  Eating together  

lkFk [kkus ls  

D)  Kissing  

pqEcu ls  

 
62) Recently, which one of the following 
schemes of union government has achieved 
Guinness book of world record  

gky gh esa dsUnzh; ljdkj dh fdl ;kstuk dks fxuht cqd vkWQ 

oYMZ fjdkMZ esa 'kkfey fd;k x;k gS 

 

A)  MGNREGA  

egkujsxk 

B)  Prime Minister Jan Dhan Yojana  

iz/kkuea=h tu /ku ;kstuk 

C)  Swascha Bharat Abhiyan  

LoPN Hkkjr vfHk;ku 

D)  Indira Awas Yojana  

bafnjk vkokl ;kstuk 

 
63) What is the aim of Kushal Mangal 
Karyakram  
dq'ky eaxy dk;Zdze dk D;k mnns’; gS 

 

A)  Identifying all eligible couples through 
community survey  
lHkh ;ksX; nEifr;ksa dh igpku djuk  

B)  Bringing down MMR in the state by 
identifying high-risk pregnancies  
vf/kd [krjs okyh xHkZorh efgykvksa dh igpku dj MMR 

dks de djuk  

C)  Promoting  health  of families through 
Primary Health.  
izkFkfed LokLF; ds }kjk ifjokj ds LokLF;  dks c<+kok 

nsuk   

D)  Giving health benefits to elderly.  
cqtqxksZ dks LokLF; ykHk nsuk A 

 
64) The flagship programmes aired on 
Doordarshan which educates people in the field 
of Public Health Care  

tuLokLF; ij yksxksa dks tkx`r djus ds fy, nwjn’kZu ij dkSulk 

dk;Zdze fn[kk;k tkrk gSA 

 

A)  Kalyani program  

dY;k.kh dk;Zdze 

B)  Narayani Program  

ukjk;.kh dk;Zdze 

C)  Sahet ke rakh wale  

lsgr ds j[kokys 

D)  Sehat aap ke dwar  

lsgr vkids }kj 

  

 
65) What is the benefit given in urban areas 
under JSY scheme  

ts,lokbZ ;kstuk ds vUrZxr 'kgjh {ks=ksa esa fdrus ykHk fn;s tkrs 

gSa 

 A)  Rs .1400 is paid to the delivered mother  

izlwrk dks :i;s 1400 

B)  Rs .1100 is paid to the delivered mother  

izlwrk dks :i;s 1100 
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C)  Rs .2000 is paid to the delivered mother  

izlwrk dks :i;s 2000 

D)  Rs. 1000 is paid to the delivered mother  

izlwrk dks :i;s 1000 

 
66) What is the amount given in Mukhbir Yojna  

eq[kfcj ;kstuk es fdruh jkf’k nh tkrh gS  

 

A)  Rs. 2,00,000/-  

: nks yk[k 

B)  Rs.1,00,000/-  

: ,d yk[k 

C)  Rs.1,50,000/-  

: ,d yk[k ipkl gtkj 

D)  Rs.50,000/-  

: ipkl gtkj  

 
67) Keoladeo National Park is located in which 
district of Rajasthan  

dsoyknso jk"Vhª; m|ku jktLFkku ds fdl ftys es gS 
 

A)  Bharatpur  

 Hkjriqj 

B)  Ajmer  

vtesj 

C)  Jaipur  

t;iqj 

D)  Kota   

dksVk 

 
68) Sterilization method for males  
iq:"kksa ds fy, ulcUnh dks dgrs gS 

 

A)  Tubectomy  

V;wcSDVkseh 

B)  Laproscopy  

ySIkjksLdksih 

C)  Vasectomy  

oSlsDVkseh 

D)  Bronchoscopy  

czksadksLdksih 

 
69) Which city was named India’s “Earth Hour 
Capital 2015”?  

fuEu es ls fdl 'kgj dks Hkkjr dk **vFkZ vkoj dSfiVy 2015** 

?kksf"kr fd;k x;k 

 

A)  Rajkot  

jktdksV 

B)  Pune  

iw.ks 

C)  Thane  

Fkkus 

D)  Coimbatore  

dks;EcVwj 

 
70) Which tax is imposed by central 
government only?  

dkSulk dj d¢oYk dsUnzh; ljdkj }kjk YkXkk;k tkrk gS 

 

A)  Entertainment Tax  

euksjatu dj 

B)  Municipal tax  

fuxe dj 

C)  Sale tax  

fcdzh dj 

D)  Income tax  

vk;dj 
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71) What is the minimum educational 
qualification for being selected as ASHA  

vk'kk ds p;u ds fy, U;wure 'kS{kf.kd ;ksX;rk D;k gS  

 

A)  10th pass  

nloha ikl 

B)  5th pass  

ikapoha ikl 

C)  Literate  

lk{kj 

D)  Graduation  

Lukrd 

 
72) When was MUKHYAMANTRI JEEVAN 
RAKSHA KOSH launched:  
eq[;ea=h thou j{kk dks"k dh 'kq:vkr dc dh xbZ Fkh   

 

A)  1st January 2009  

1 tuojh 2009 

B)  9th February 2009  

9  Qjojh 2009 

C)  19th January 2010  

19 tuojh 2010 

D)  10th January 2009  

10 tuojh 2009 

 
73) Global Alliance on Vaccines Initiative 
(GAVI) is associated with   

Xykscy vyk;al vkWu oSDlhu buhf’k,fVo ¼xkoh½ fdlls lacaf/kr 

gS 

  

A)  Immunization  

Vhdkdj.k 

B)  Nutrition  

iks"k.k 

C)  Health  

LokLF; 

D)  Nourishment  

iks"kkgkj 

 
74) The members of VHSC are  

xzkeh.k LokLF; ,oa LoPN lfefr ds lnL; gksrs gS 

 

A)  Sarpanch  

Ljiap 

B)  ASHA  

vk'kk 

C)  Teachers  

f’k{kd 

D)  All of the above  

mijkssDr lHkh  

 
75) Which country has the highest TB burden 
in the world  

fo'o esa fdl ns’k ij TB dk lokZf/kd Hkkj gSA 
 

A)  Nigeria  

ukbZthfj;k  

B)  South Africa  

lkmFk vQzhdk 

C)  India  

Hkkjr 

D)  Bangladesh  

ckaxykns’k 
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76) Which tablet is given under Deworming 
program?  
d`feuk’ku dk;Zdze esa dkSulh nokbZ nh tkrh gS 

 

A)  Paracetamol  

iSjkflVkeksy 

B)  Cetrizine  

flVªhftu 

C)  Amoxycilline  

veksfDllhfyu 

D)  Albandazol  

vYc.Mktksy 

 
77) Iodine deficiency can cause a disease 
called  

vk;ksMhu dh deh ls fuEu es ls dkSulk jksx gks ldrk gS 
 

A)  Goitre  

?ksa?kk 

B)  Cancer  

dSalj 

C)  Kidney stones  

xqnksZa es iFkjh 

D)  Arthritis  

xfB;k 

 
78) To address high diarrhoeal morbidity and 
mortality among children ,which Tablet has 
been added with ORS  
cPpksa es nLr ds }kjk gksus okyh chekjh vkSj eR̀;q dks jksdus ds 

fy, ORS ds lkFk fdl xksyh dks fn;k tkrk gSA 

 

A)  Zinc  
ftad 

B)  Vit-A  
foVkfeu , 

 

C)  Vit-K  
foVkfeu ds 

D)  Iron-Folic  
vk;ju Qksfyd 

 
79) Makrana town is famous for  
edjkuk uxj izfl) gS 

 

A)  Textile production  
diM+k mRiknu 

B)  Crude oil  
dPpk rsy 

C)  Marble  
ekcZy 

D)  Edible oils  
[kk| rsy 

 
80) With reference to balanced diet the full form 
of  RDA is  

larqfyr vkgkj ds lanHkZ esa vkj-Mh-,- dk iwjk uke gS  

 

A)  Recommended Dietary Allowance  

fjdeSafMM Mk;Vjh vykmal 

B)  Rules for Diet Allowance  

:Yl QkWj MkbZV vykmal 

C)  Routine Diet Average  

:Vhu MkbZV ,ojst 

D)  Recommended diet for adults  

fjdeSafMM Mk;V Qkj ,MYVl 
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81) Prime Minister Narendra Modi has recently 
launched the “Give It Up” campaign for 
voluntarily giving up ___? 
gky gh es iz/kkuea=h ujsUnz eksnh }kjk 'kq: fd;s x;s “fxo bV 

vi” vfHk;ku es fdl pht dks LosPNk ls NksMus dh ckr dh xbZ 

gS  

A)  Alcohol  
'kjkc 

B)  LPG Subsidy  
,y-ih-th- lfClMh 

C)  Ration  
jk'ku 

D)  Plastic  
IykfLVd 

 
82) Sunlight is a good source of which Vitamin  

 lw;Z dh jks’kuh fdl foVkfeu dk vPNk L=ksr gS 

 

A)  Vitamin A  

foVkfeu , 

B)  Vitamin K  

foVkfeu ds 

C)  Vitamin D  

foVkfeu Mh 

D)  Vitamin E  

foVkfeu bZ  

 
83) Who are treated in UJALA clinic  
mtkyk Dyhfud esa fdudk mipkj gksrk gS  

 

A)  Adolescents  

fd’kksjksa dk  

B)  Elderly  

cqtqxksZ dk 

C)  Infants  

f’k’kqvksa dk  

D)  All of above  

mijksDr lHkh 

 
84) Normally Sub-centre  caters to Population 
of  

lkekU;r% mi LokLF; dsUnz  fdruh tula[;k ij gksrk gS 
 

A)  1000  

B)  5000  

C)  2000  

D)  8000  

 
85) Recently which health survey was 
conducted with the help of ASHA  

gky gh esa vk’kk ds lg;ksx ls dkSulk LokLF; loZs djok;k x;k 
 

A)  Nirogi Rajasthan  

fujksxh jktLFkku 

B)  Arogya Rajasthan  

vkjksX; jktLFkku 

C)  Swasth Rajasthan  

LoLFk jktLFkku 

D)  Sampoorn Rajasthan  

lEiw.kZ jktLFkku 

 
86) Zika virus has been declared as Public 
Health Emergency of International Concern by  

thdk ok;jl dks fdl vUrZjk"Vªh; laLFkk }kjk tu LokLF; 

vkikrdky ?kksf"kr fd;k x;k gSA 
 

A)  United Nations  

;qukbZVsM us’ku 

B)  International Institute for Public Health  

vUrZjk"Vªh; tu LokLF; laLFkk  

C)  SEARO  

fl;jks 
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D)  WHO  

MCy;w,pvks 

 
87) Condom protects from  
daMkse lqj{kk djrk gSA 

 

A)  Sexually Transmitted Infections  

;kSu tfur ladze.k 

B)  Reproductive Tract Infection  

iztuu ekxZ ladze.k 

C)  Pregnancy  

xHkkZoLFkk 

D)  All of the above  

mijksDr lHkh  

 
88) When is Maternal and Child Health and 
Nutrition day celebrated  
ekr` vkSj f’k’kq LokLF; ,oa iks"k.k fnol euk;k tkrk gSA 

  
 

A)  Every Thursday  

izR;sd xq:okj  

B)  2nd friday  

nwljk 'kqdzokj  

C)  3rd Wednesday  

rhljk cq/kokj 

D)  2nd Saturday  

nwljk 'kfuokj  

 
89) Low birth weight refers to birth weight  

 de otu ds f’k’kq oks gksrs gSa ftudk otu  

 

A)  less than 3000g  

3000 xzke ls de gksrk gS 

B)  less than 2750g  

2750 xzke ls de gksrk gS 

C)  less than 2500g  

2500 xzke ls de gksrk gS 

D)  less than 3250g  

3250 xzke ls de gksrk gS 

 
90) IUCD 380 A is valid for how many years  
IUCD 380 A fdrus o"kZ rd dkjxj jgrh gSA 

 

A)  5 years  
5o"kZ 

B)  10 years  
10 o"kZ  

C)  8 years  
8 o"kZ  

D)  7 years  
7 o"kZ 

 
91) Full form of BMI is    

ch,evkbZ dk iwjk uke gSA 
 

A)  Body Measurement Index  

ckWMh estjesaV bUMSDl 

B)  Body Mass Index  

ckWMh ekl bUMSDl 

C)  Body Mass Indicator  

ckWMh ekl bfUMdsVj 

D)  Body Measurement Indicator  

ckWMh estjesaV bfUMdsVj 

 
92) AMRIT Scheme launched on 15th 
November 2015 is related to  

uoEcj 2015 dks 'kq: dh xbZ  ve`r ;kstuk  fdlls lacaf/kr gS 

 

A)  Affordable Medicines  

lLrh nokb;kW 
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B)  Affordable Housing  

lLrs ?kj 

C)  Free electricity for agriculture  

d`f"k ds fy, eq¶r fctyh 

D)  Clean drinking water  

lkQ ihus dk ikuh 

 
93) Under HBPNC ASHA makes how many 
visits to a woman who had institutional delivery  
vk’kk ds vUrZxr lLFkkxr izlo djusokyh efgyk ls fdruh 

ckj feyus tkrh gS 

 

A)  6  

B)  7  

C)  5  

D)  4   

 
94) Which of the following is not a divisional 
headquarter  

fuEu es ls dkSulk laHkkxh; eq[;ky; ugh gS 

 

A)  Ajmer  

vtesj 

B)  Bharatpur  

Hkjriqj 

C)  Jaisalmer  

tSlyesj 

D)  Jodhpur  

tks/kiqj 

 
95) Which country is to the west of Rajasthan  
jktLFkku ds if’pe eas dkSulk ns’k gS 

 

A)  Nepal  
usiky 

B)  Bhutan  
HkwVku 

C)  Pakistan  
ikfdLrku 

D)  Afghanistan  
vQxkfuLrku 

 
96) The airport of which city has become the 
first airport in India to run on solar power  

fdl 'kgj ds ,;jiksVZ dks Hkkjr dk lkSj ÅtkZ ls pyus okyk 

igyk ,;jiksVZ cuk;k x;k gS 

 

A)  Delhi  

fnYyh 

B)  Kochi  

dksfPp 

C)  Jaipur  

t;iqj 

D)  Ahmadabad  

vgenkckn 

 
97) What is AIDS  

AIDS  D;k gSA 
 

A)  Fever  

cq[kkj  

B)  Immuno Deficiency syndrome  

bE;quks MsfQf’k;sUlh flUMªkse 

C)  Allergy  

,ythZ 

D)  Weakness  

detksjh 

 
98) Which of the following is not a risk group for 
sexually transmitted diseases  

fuEu esa ls dkSulk lewg ;kSutfur jksxksa dk fjLd xzqi ugha gS 
 

A)  Commercial Sex Workers  

O;olkf;d ;kSudehZ 
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B)  Men who have sex with men  

iq:"k ds lkFk ;kSulac/k cukus okys iq:"k 

C)  Persons with many sexual partners  

yksx ftuds dbZ ;kSu lkFkh gks 

D)  Drug addicts  

u’ksMh 

 
99) The average daily iodine requirement of an 
adult is  

,d Ok;Ld dks lkekU;r% izfrfnu fdruh ek=k esa vk;ksMhu dh 

vko’;drk gksrh gS 

 

A)  150 micrograms a day  

izfrfnu 150 ekbdzksxzke 

B)  200 milligrams a day  

izfrfnu 200 ekbdzksxzke 

C)  100 micrograms a day  

izfrfnu 100 ekbdzksxzke 

D)  175 milligrams a day  

izfrfnu 175 ekbdzksxzke 

 
100) Which is the most cost effective Family 
Planning method  

dkSu lk ifjokj fu;kstu dk lk/ku lcls fdQk;rh gksrk gS  

 

A)  Condom  

daMkse 

B)  Pills  

[kkus dh xksfy;ka 

C)  Sterilization  

ulcUnh 

D)  IUCD  

 vkbZ;wlhMh 

 

 

  



Set Id : 25294_6  

Page16of16  

Answer Key  

1.  D  

2.  D  

3.  C  

4.  B  

5.  B  

6.  C  

7.  A  

8.  D  

9.  A  

10.  D  

11.  B  

12.  B  

13.  A  

14.  B  

15.  B  

16.  D  

17.  A  

18.  C  

19.  C  

20.  A  

21.  B  

22.  B  

23.  D  

24.  A  

25.  A  

26.  B  

27.  D  

28.  D  

29.  D  

30.  A  
 

31.  C  

32.  D  

33.  B  

34.  D  

35.  C  

36.  D  

37.  D  

38.  D  

39.  C  

40.  A  

41.  C  

42.  C  

43.  B  

44.  D  

45.  D  

46.  A  

47.  C  

48.  B  

49.  B  

50.  B  

51.  A  

52.  A  

53.  D  

54.  A  

55.  A  

56.  B  

57.  C  

58.  B  

59.  B  

60.  A  
 

61.  A  

62.  B  

63.  B  

64.  A  

65.  D  

66.  A  

67.  A  

68.  C  

69.  C  

70.  D  

71.  A  

72.  A  

73.  A  

74.  D  

75.  C  

76.  D  

77.  A  

78.  A  

79.  C  

80.  A  

81.  B  

82.  C  

83.  A  

84.  B  

85.  B  

86.  D  

87.  D  

88.  A  

89.  C  

90.  B  
 

91.  B  

92.  A  

93.  A  

94.  C  

95.  C  

96.  B  

97.  B  

98.  D  

99.  A  

100.  C  
 

 




